22. A boy inserted a beetle into the end A of a 20 cm transp: in the
straw. The diagram shows the distance-time graph of the
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(a) Find the total distance travelled by the beetle during the

(b) Calculate the average speed of the beetle during the 30

(c) How far from B was the beetle at the end of the 30 seca

(d) Suppose the beetle rested at the spot in (¢) from 7 = 22 on
To push the beetle out of the straw, the boy inserted a sata
Assuming that the boy moved the satay stick in the straw '
(i) Find the value of ¢ if the satay stick reached the bee
(ii) Find the value of 7, if the satay stick pushed the bee




